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1 mwn: proper phrasing of nmnn
a  if he says " noon/nmn/nnn 1”7 — any of these are valid as attachment (n71nn)
b however: if he says “i Y n%»nn w” —not NN
i and if: the animal is a n"»31, then it becomes 1510 and must be assessed (so that he’ll give the difference in nam)
Analysis of use and meaning of nnn
a  challenge (to our mwp): in re: M1 P73, it is understood to mean redemption (515°n)
i answer (»2x): NN is an equivoke — could mean NN (per v. 1) or could mean %% (per v. 2)
1 therefore: in re: namn »w1p, where NN holds, it means NMnn; in re: 2"173, where there is no "M NN, means >N
2 X327 even in case of nam 1p, could mean 99N — if the index animal were a D1 Sya
(a) v~ "1 even in case of n"v1, could go either way
(i) if: he has his hand on the n”p3, he intends to redeem
(if) but if: he has his hand on the P50, he intends to attach
»1R’s sequence of questions
a  If he had 2 pairs of animals, 2 v7pn both n”ya and 2 11 — both mnn and he declared Y& nnn YR
i Lemmal: did he intend to make nmnn — and gets man OR
ii ~ Lemma2: do we assume that a person never deliberately means an 710’8 when he may have meant anon
iii If: we accept the argument that Xan°n 2w RY, what if he had 2 pairs, one each n”ya and one each nnnn
1 Lemmal: he intended nnnn to take place of n”ya an vice-versa — and only one set of man OR
2 Lemma2: he intended to generate a double-nmnn and gets two sets of man
3 If: we accept the argument that X°n 972w RY even here and he only gets 1 set of man,
4 Then: if he had 3 sets of animals, 1 of the wTpn a n”ya and all of the 9N were w/o o
(a) Lemmal: since he clearly intends at least 2 mMnn, do we assume that he intends all 3 as mmmn OR
(b) Lemma2: do we still give him benefit of the doubt and assume ...p»aw &5 for the last set — nabnn
() If: we accept the argument that X1’ p7aw RY, what if he had 4 pairs, 1 n”ya w7pn and all the rest mnnn
(i) Lemmal: since he has already established a pattern — Xmo’Ra prnR — with 3 violations — 4% is also N nn
(ii) Lemma2: we still maintain that p°aw R and he only gets 3 man Wwn
Reexamining the end of the nywn — assessing the n”ya for its value and paying the difference
a 77 the value added is v"mn
b 5”1 value added is n"m
¢ question: they can’t be disagreeing about a case of nk1& (where difference is 1/6)
i reason: v:1 n"a establishes that wTpn is exempt from NRINR
ii  perhaps: the case is one of npn 901 (where difference is more than 1/6)
1 reason: mn 1 reported about P9 Ypap and 'Ry " reported about w1pn — both in 7’s name, that npn %1 applies
iii Answer: switch positions — »1 maintains that the differential-payement is n”1 and " — 0"
1 Challenge: according to 'n7 '3, w1pn is still untouched by npn 5103, cannot switch (77> "1 — don’t switch)
2 proposal: my /0 "1 dispute whether to accept YR1nW’s ruling
(a) Swmpw. if you redeem nin mw w1pn for only a noMa — it is Y91mn; My 7 accepts, MNP " rejects
(b) Rejection: all accept YR1nW; M 1 believes that it is only Tay»73, N7 "1 - even nY»nnaY
iv  Alternate answer (per n”7): 13y "1 holds wTpn “not having nk1IR” means it isn’t limited to 1/6; any difference is owed
d A5 only have to reassess if the original was done by 2 (or 1), but if done by 3 — that is final
i Challenge: »n>w " ruled that 2 is “like 100” for ny1y, but vis-a-vis my7, the more, the better
ii  Additional challenge: when we have 3 vs. 3, we always follow the latter (larger amount) — benefit to w7pn
1 Answer: 89y holds that o7 is "1 - and in such a case, they were lenient (let it stay with xmw of 3)
1 mwn: continued presentation of phrasing of nmnn; if he said n%» nnn (e.g.) — means nothing; if he said w n%Y nnn (e.g.) and
had one in his house — valid; else, meaningless;
a  And if he declared that a nknv NN or n”pa was an 1% (e.g.) — meaningless; but if "n%5” — then sold and funds >n%w
i 37 our mwn is contra n™, who holds n%v15 »727 X% DIXR PR (27's observation about all clauses in mwn)
ii ~ Note: we don’t require D if he designated nxnv NNNa or N3, as they are unfit; but DWRY Nap) requires o
1 Note: this implies that our mwn is contra v, who holds that DwR> napa wman is sold without a oin
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